Stadium Maxx Parts List

Parts shown in bold are optional accessories. Part categories and individual part listings are arranged alphabetically. Prices are shown in US Dollars.

5260 Air filter housing/ foam insert/ straight base/ angled base/ cable
tie (1-each) (TRX 2.5, 2.5R, 3.3)

5261  Air filter inserts, foam (3) (pre-oiled) (TRX 2.5, 2.5R, 3.3)..
5263  Oil, air filter

Bearings & Bushings
4889  Ball bearing (1)(10X19X5MM)......ooiiiiiiiiiieeee s .
4612 Ball bearings (10x15x4mm) (2) $8.00
4609 Ball bearings (5x10x4mm) (2) $8.00
4611 Ball bearings (5x11x4mm) (2) $6.00
2728 Ball bearings (5x8x2.5mm) (2) $8.00
4614 Ball bearings (6x12x4mm) (2) $6.00
5119 Ball bearings, blue rubber sealed (10x15X4mm) (2) ......cccoceeveereeencns $7.00
5116  Ball bearings, blue rubber sealed (5x11x4mm) (2)... . $3.50
5114  Ball bearings, blue rubber sealed (5x8x2.5mm) (2 . $4.00
5117  Ball bearings, blue rubber sealed (6x12x4mm) (2) . $4.00

2545  Bellcrank bushings (plastic) (5x8x2.5mm) (4

Body & Accessories

1926 Antenna caps, vinyl (2)/ antenna spool $2.00
5526  Antenna crimp nut, aluminum (blue-anodized)/ antenna nut tools...... $4.00
1726  Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1)................. $1.00
1834  Body clips (12) (standard size) ...
3934 Body clips, heavy duty (12)......
4914R Body mount posts, front (2)/ body mount rear/ body mount screw

pins (4)
1815 Body washers (8)
4915 Body washers, foam adhesive (10) .
5112 Body, Stadium Maxx (clear, requires painting)....... ..$20.00
5112X Body, Stadium Maxx (ProGraphix w/window/grill decals).................. $34.99
4911 Body, T-Maxx (Clear, requires painting) $20.00
49166 Body, T-Maxx (USHRA Special Edition) (Blue)/decal sheet (2)....$34.99
49162 Body, T-Maxx (USHRA Special Edition) (Red)/decal sheet (2).....$34.99
49165 Body, T-Maxx (USHRA Special Edition) (Silver)/decal sheet (2)..$34.99
4911X Body, T-Maxx, ProGraphix (replacement for the painted

flames body. Graphics are painted, requires paint & final color

application.) $34.99
4911R Body, T-Maxx, ProGraphix (replacement for the T-Maxx 2.5

painted body. Graphics are painted, requires paint & final

color application.) $34.99
4913X Decal sheet, Jaws T-Maxx $6.00
2514 Decal sheet, racing sponsors $3.00
5113X Decal sheet, Stadium Maxx (includes window/grill decals).... $6.00
4913 Decal sheet, T-Maxx (use with 4911X body) $6.00
4912 Disruptor body for nitro Maxx trucks (custom painted and

trimmed) $34.99
9950 Official Team Traxxas racing decal set (flag logo/ 6-color) ......... $4.50

Brake Components
Brake adapter, hex aluminum (blue) (use with HD shafts)..
Brake cam (blue)/ cam lever/ 3mm set screw ............
Brake disc
Brake pads (2)/ brake piston/ 3x15mm cap hex screws (2

Bumpers & Skidplates

4966X
4967
4964

4936 Bumper mounts, front (I&r)/ bumper mounts, rear (1&r)/ 3x12mm

RHM SCIEWS (8) ..evveeieeenieieieieeeieeeiee e $3.75
4935X Bumpers, 6061-T6, brushed aluminum (f&r) $35.00
4935 Bumpers, satin finished (f&r)
4947X Skid plate, transmission, T6 aluminum (blue)
4937 Skidplate, front plastic (black)/ stainless steel plate
4937A Skidplate, front plastic (grey)/ stainless steel plate.......
4938 Skidplate, rear plastic (black)/ stainless steel plate
4938A Skidplate, rear plastic (grey)/ stainless steel plate

Chassis & Attachments

3170 Battery holder, 4-cell/ on-off SWItCh...........ccoeiiiiiiniiiec, $5.00
4925X Box, battery (grey)/ adhesive foam chassis pad/charge jack

PIUG (FUDDEI) ... $4.75
4925 Box, battery/ adhesive foam ch pad $4.75
5159  Box, receiver (upper and lower halves)/ clip (1)/ foam pad................ $7.00
4923 Chassis braces, lower (2) (black) $8.00
4923A Chassis braces, [oWer (2) (Grey).....coceeuereereeneeieeeeee e $8.00
4923X Chassis braces, lower machined 6061-T6 aluminum (blue) (2)/

hardware 5.00
5122R Chassis, 6061-T6 aluminum (4.0mm) (blue) (standard replacement

FOr @Il MAXX SEIES) ....veveuieveieeeeeeeieeeeeiee et nnens $60.00

For assistance call 1-888-TRAXXAS. or e-mail Traxxas anvtime at subport@Traxxas.com

4922X Chassis, 7075-T6 billet machined aluminum (4mm) (blue)/
hardware
Cover plates and seals, forward only conversion (Revo) (Optidrive
blank-out plate, Optidrive sensor cover, shift fork cover)....
4947X Skid plate, transmission, T6 aluminum (blue)
5167  Slide carb linkage bellcrank post/ 5x8x2.5 plastic bushing (2)/

bellcrank/ 5x8x0.5 fiber washer (2)/ 3x10 WM

Clutch & Related Parts

5157

4609 Ball bearings (5x10x4mm) (2) $8.00
4611  Ball bearings (5x11x4mm) (2) $6.00
4118  Clutch bell, (18-tooth)/ 5x8x0.5mm fiber washer (2)/ 5mm E-

clip (requires #4609 - ball bearings, 5x10x4mm (2)) ...
4120  Clutch bell, (20-tooth)/ 5x8x0.5mm fiber washer (2)/ 5mm E-

clip (requires #4611-ball bearings, 5x11x4mMm (2) ......cccoevvireeneencns $12.00
4122  Clutch bell, (22-tooth)/ 5x8x0.5mm fiber washer (2)/ 5mm E-

clip (requires #4611-ball bearings, 5x11x4mm (2))
4146X Clutch shoes (2)/ spring (T-Maxx/Revo/Jato/Nitro 4-Tec)

3281 Cone, split beveled

1633  E-clips/ C-rings .
4142  Flywheel (N. Rustler/Sport/Stampede/T-Maxx/Revo/Jato).. . $7.50
5244  Flywheel nut (TRX 2. 5 2 5R, 3.3) ..... . $4.25

1985

4982

Diff gear set: 13-T output gear shafts (2)/ 13-T spider gears (2)/
spider shaft (1)/ 6x10x0.5mm PTFE washer (1) .......cccoeeriiiiiinens
4980X Housings, diff (ring side/ non-ring side) (1 each)/ pinion collar (1).....

4981 Ring gear, 37-T/ 13-T pinion/ diff carrier/6x10x0.5mm PTFE
washer (1)/ 2x8mm countersunk machine screws (4)
1647  Silicone grease

4981X Spool (ellmlnates differential, use off-road onIy)(reqmres

4932  Axle carriers/ steering bIOCKS (2) ........oovevieniineieeeeeeeeeee $6.00
4928X Differential output yokes (Heavy-duty) (2)/ set screw yoke pins,

MA/T0 (2) et $5.00
4951X Half shafts, long (Heavy-duty) (external-splined (2) & internal-

splined (2))/ metal U-JoINtS (4) ....ooveeeeeireieieeieeeee e $8.00

4949X Half shafts, short (Heavy-duty) (external-splined (2) & internal-
splined (2))/ metal u-joints (4)
Hex wheel hubs (2)/ axle pins (2.5x12mm) (2)...
Hex wheel hubs, 6061-T6 aluminum (blue) (4)/ axle
pins (2.5x10mm) (4)
Pins, axle (2.5x12mm) (4)
Stub axles (Heavy-duty) (2)
Transmission output yokes (heavy-duty) (2)/ set screw yoke pins,

M4/10 (1) & MA/18.5 (1) .

Engine & Servo Mounts

Engine mount, aluminum/ 3x10 CS with washers (8)
Engine mount, machined 6061-T6 aluminum (blue) (w/
screws) (Maxx Series)
Servo mount, throttle/brake (1) (grey)
Servo mounts, steering/ shift (f&r) (black)
Servo mounts, steering/ shift (machined

aluminum) (blue) (f&r)/ machine screws (8)...
Servo mounts, steering/shift (f&r)(grey)
Servo mounts, throttle/ brake (1) (black)
Servo mounts, throttle/ brake (machined

aluminum) (blue) (f&r)/ machine screws (8

Cooling head, PowerTune (machined aluminum, blue-
anodized) (TRX 2.5 and 2.5R)/ head protector (plastic)....

4954
4954X

4955
4953X
4927X

5160
4960X

4919A
4918
4918X

4918A
4919
4919X

3231  Glow plug, heavy-duty (long-medium)/ gasket ...
3232  Glow plug, super-duty (long medium)/ gasket....
3232X Glow plug, super-duty (long-medium)/gasket
5227 Head protector, cooling head (2) (TRX 2.5, 2.5R)
5211R Roller clutch/ 6x8x0.5 TW (1) (also called one-way bearing) (TRX
2.5,25R, 3.3)
5277  Shaft, starter (TRX 2.5, 2.5R, 3.3) .
5170 Starter, recoil (complete with screws) (TRX 2.5, 2.5R, 3.3) .......... $20 00
4091 Temp gauge, blue (On-board engine tuning aid, digital LCD
readout, new style with max. temp. memory)........cccceccueerrrrennneen. $24.99

3155

Cable ties, medium (bIack) (6) .......coceerueerieriieieeieeeeeeeeeeee

REV. 071119 1654



Page 2 Stadium Maxx Parts List

4941
5296
3296
4085
5146
5140

5256
5246

5142

4942

5152
5487

5280
5281
5273
5270R

5276
5148
5275

4581
4581X

5279
5211R

5169
5282

2578

4934X
4932
2728
2545
4944

3930
4930R
4930X

5134
4933
4933X

1942

2742
2742X
3744
2055
4917R
4943

5132R
5131R
5138

4948
4958

3231

Coupler, exhaust (silicone)
Fitting, inlet for pipe pressure (90-degree)(1)
Fittings, inlet (nipple) for fuel or water cooling (2)
Hanger wire, universal (6-inches, cut and bend to suit)
Hanger, metal (T-Maxx/S-Maxx) (TRX 2.5, 2.5R)
Header, aluminum (T-Maxx) (for rear exhaust engines only) (TRX
2.5,25R, 3.3)
O-ring, header 12.2x1mm (TRX 2.5, 2.5R, 3.3) .
Pipe coupler, molded (for use with pipes 5152 (T-Maxx) &

4452R) (TRX 2.5, 2.5R, 3.3) ..ot
Screws, 3x15mm cap-head machine (hex drive) (with split and flat
WASNETS) (B) ..eveueeereieteiete ettt e s se e seenennens $
Tuned pipe, high performance (aluminum) (blue-anodized)/

pipe hanger/ screws/ nuts (requires #4941)...
Tuned pipe, plastic (TRX 2.5, 2.5R, 3.3)
Tuned pipe, Resonator, R.0.A.R. legal (aluminum, double-
chamber) (fits Maxx vehicles with TRX Racing

EZ Start 2 & Related parts

Connector, wiring harness (EZ-Start and EZ-Start 2)
Control box (complete) (EZ-Start 2)...........ccceeveeiniiniiiiieeeeee,
Control box battery cover w/ belt clip (EZ-Start 2). .
Cush-drive elements (4) (EZ-Start 2)........ccccceeveeenne
EZ-Start 2, complete system with controller, drive unit, wiring
harness
Gear set (complete) (EZ-Start 2)
Grease, White lithium............coooomiiiiieeeeeeee e,
Housing set (inner, outer)/ 3x12mmBCS (5)/ 3x20BCS (1)/ motor
BUSHING (EZ-SEArt 2).......cucveiiiiieieieieieeeee e $

Lead wire, glow plug (blue) (EZ-Start and EZ-Start 2) ............ccc...... $1.75
Lead wire, glow plug (blue) (EZ-Start and EZ-Start 2)/ molex

pin extractor (use where glow plug wire does not have bullet
connector) $1.75

Motor/ pinion gear/ motor bushing (EZ-Start 2) ..........cccccooeeieiiennnn, $15.00
Roller clutch/ 6x8x0.5 TW (1) (also called one-way bearing) (TRX

2.5, 2.5R, B.3) i $22.50
Screws, 2.6x8mm countersunk machine (6) ..........cccocevvereineinennnens $2.00
Screws, 3x12mm button-head machine (6) (starter attachment

SCrews With TAreadlock) ..........ccccvveeeieverereeeeeiiie e $3.00

Screws, 3x12mm button-head machine (hex drive) (6)
Shaft, starter (TRX 2.5, 2.5R, 3.3

Front Suspension & Steering

Aluminum caps, pivot ball (4)
Aluminum caps, pivot ball (blue-anodized) (4).
Axle carriers/ steering blocks (2)
Ball bearings (5x8x2.5mm) (2)
Bellcrank bushings (plastic) (5x8x2.5mm) (4)
Bellcrank posts, aluminum (2)/ steering link threaded
rod (3x25mm)/ long rod ends (2)
Bulkhead cross braces (2)/ 3x25mm CS screws (8)
Bulkheads (I & r) (front) (grey)
Bulkheads, front (machined 6061-T6

aluminum) (blue) (1&r) (requires use of 4939X suspension
pins)
Caster spacers (4)/ shims (4)...
Pivot balls (4)/ pivot ball cap bushmgs (4)

Pivot balls, hard-anodized 7075-T6 aluminum (4)/ pivot ball
cap bushings (4)
Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball
screws (2)
Rod ends, long (6)/ hollow ball connectors (6) ...
Rod ends, short (6)/ hollow balls (6)
Servo saver w/ adaptors
Servo, high-torque......

Shock tower (for rectangular body posts) $5.00
Steering bellcranks (2)/ bellcrank bushings (5x8x2.5mm) (4)/

bellcrank post spacers (2)/ draglink/ 3x8mm shoulder screws (2)...... $5.00
Suspension arms (lower) (2) (fits all Maxx S€ries)........c.cccoceereereencns $7.50

Suspension arms (upper) (2) (fits all Maxx series)...
Turnbuckles, 106mm (front tie rods) (2) (includes installed rod
ends and hollow ball connectors

Fuel Tank &
Fuel line (610mMmM OF 2ft) .......cooiiiiiieieeeeee e
FUEl TanK (125CC) ...t
Fuel tank rebuild kit (contains cap, foam washer, o-ring,
upper/lowerretainers, screw, spring and SCrew pin) ...........ccceeeeeeeenn,
Heat shield tubing, fiberglass (2) (black

Fuel, Cleaners & Supplies
Bottle, fuel filler (500cc)
Glow plug, heavy-duty (long-medium)/ gasket

3232
3232X
5148
5263
5060
5010
5070
5020

5526
3642
1834
3934
1633
5477
5478
3980
5476
5475
4147X

5147
1942

2742
2742X
5169
2562
3159

5282

2578
5142

4897

5299

3170
3037

2010
3031

3032
2215
2052
2053
2055
2018
3030X

3034

4934X
4932
3930
4929R
4929X

5134
4933
4933X

4917R
5132R
5131R
5139

2666

Glow plug, super-duty (long medium)/ gasket....
Glow plug, super-duty (long-medium)/gasket
Grease, white lithium
Qil, air filter
Top Fuel, 10% nitro (gallon)..
Top Fuel, 10% nitro (quart)...
Top Fuel, 20% nitro (gallon)..

(

(

Top Fuel, 20% nitro (quart)...
Top Fuel, 33% nitro (gallon)
Top Fuel, 33% nitro (quart

Hardware

Antenna crimp nut, aluminum (blue-anodized)/ antenna nut tools......
Attachment screws, shock (3x12mm shoulder screws) (6)........
Body clips (12) (standard size)
Body clips, heavy duty (12)
E-clips/ C-rings
Flat wrench, 5mm (blue- anod|zed alummum)
Flat wrench, 8mm (blue-anodized aluminum)
Glow plug wrench (universal wrench)
Hex wrenches; 1.5mm, 2mm, 2.5mm, 2.5 ball
MUlti-tOO] (PIASTIC) ...
Nuts, 5mm flanged nylon locking (aluminum, blue-

anodized) (4)
Nuts, 5mm flanged nylon locking (steel) (8) ....
Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball

Rod ends, long (6)/ hollow ball connectors (6)
Rod ends, short (6)/ hollow balls (6)................
Screws, 2.6x8mm countersunk machine (6)
Screws, 2.6x8mm roundhead machine (6)......
Screws, 3x10mm caphead machine (hex drive) (6)/
lockwashers (6)/ hex wrench
Screws, 3x12mm button-head machine (6) (starter attachment
screws with Threadlock)
Screws, 3x12mm button-head machine (hex drive) (6)...
Screws, 3x15mm cap-head machine (hex drive) (with spht and flat
washers) (6)
Screws, set

Battery holder, 4-cell/ on-off SW|tch
Battery, RX Power Pack (5-cell hump style, GP cells, NiM
1100mAh)
Gear set (for 2018 servos)....
Power adapter, AC (for RX Power Charger) (switching type,

auto power input selection 100-240VAC 50-60 HZ)............ccccvuen. $19.00
Power adapter, DC (12V car adapter for RX Power Charger).......
Receiver, 3-channel
Servo case (for 2055 servo)
Servo gears (for 2055 and 2056 servos)..
Servo, high-torque
Servo, standard
TRX Power Charger, peak detecting/ AC adapter (for charging
NiCad or NiMH 5-cell receiver packs and 6-cell (7.2V) EZ-Start
packs) (includes plug adapter for 7.2V packs)
Wiring harness for RX Power Pack, Traxxas nitro
vehicles (includes on/off switch and charge jack

Rear Suspension

Aluminum caps, pivot ball (4)
Aluminum caps, pivot ball (blue-anodized) (4)..
Axle carriers/ steering blocks (2)
Bulkhead cross braces (2)/ 3x25mm CS screws (8)
Bulkheads (I & r) (rear) (Grey) .eco.eeoeeeeeeeieeeeseeseeeee e
Bulkheads, rear (machined 6061-T6

aluminum) (blue)(1&r) (requires use of 4939X suspension pins).$75.00
Caster spacers (4)/ shims (4)... .

Pivot balls (4)/ pivot ball cap bushmgs (4)

Pivot balls, hard-anodized 7075-T6 aluminum (4)/ pivot ball

cap bushings (4)
Shock tower (for rectangular body posts)
Suspension arms (lower) (2) (fits all Maxx series).
Suspension arms (upper) (2) (fits all Maxx series)
Turnbuckles, 116mm (rear toe control links) (2) (includes mstalled
rod ends and hollow ball connectors

Shocks (Pro-level Aluminum)
Big Bore shock cylinder (XX-long) (1)

REV. 071119 1654



Page 3 Stadium Maxx Parts List

2662 Big Bore shocks (XX-long) (hard-anodized & PTFE-coated T6

aluminum) (assembled with TiN shafts) w/o springs (rear) (2)...
$30.00 4962 Big Bore shocks (xx-long) (hard-anodized & PTFE-coated T6

aluminum) (assembled) w/ red springs, TiN shafts (8 pack)........ $99.99
2669 Piston head set (2-hole (2)/ 3-hole (2))/ shock mounting

bushings & washers (2) (Big Bore Shocks) .......c..ccuuenienninnninnnannnn: $2.50
1942 Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball

screws (2)
2742X Rod ends, short (6)/ hollow balls (6)
3962 Set (grub) screws, 3x25mm (8)/ 3mm nylon locknuts (8)....
2667 Shock caps, aluminum (2)/ (Big Bore Shocks, also fits plastic

Ultra Shocks) $7.00
2362 Shock rebuild kit (for 2 shocks) $2.50
2656T Shock shafts, hardened steel, titanium nitride coated (xx-

long) (2)
2656  Shock shafts, steel, chrome finish (xx-long) (2)
1765  Silicone diaphragms (4)
1666  Silicone shock oil (30 wt)
2668 Spring retainers, upper & lower (2)/ spring pre-load spacers:

1mm (4)/ 1.5mm (2)/ 2mm (2)/ 4mm (2)/ 8mm (2) (Big Bore

Shocks) $5.50
4649R Springs, red (for big bore shocks) (2.5 rate) (2) ........ccceevveeveerennnnn, $2.50

Shocks (Ultra Shocks)

3642 Attachment screws, shock (3x12mm shoulder screws) (6).... .
3766A Body, Ultra Shock(s) (XXL) (Grey) (2)....ccoeerureireinieenieeeieceieenieens
1942 Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball

screws (2)
2742X Rod ends, short (6)/ hollow balls (6)..
3767  Shock caps (2)/ shock bottoms (2)
2667 Shock caps, aluminum (2)/ (Big Bore Shocks, also fits plastlc

Ultra Shocks) $7.00
2362 Shock rebuild kit (for 2 shocks) $2.50
2656T Shock shafts, hardened steel, titanium nitride coated (xx-

long) (2) $10.00
2656  Shock shafts, steel, chrome finish (Xx-10Ng) (2).......ccevvervirvineiiiens $3.00
1765  Silicone diaphragms (4)
1666  Silicone shock oil (30 wt) . .
3769  Spring pre-load spacers: 1mm (4)/ 2mm (2)/ 4mm (2)/ 8mm (2) ....... $4.00
3768  Spring retainers, upper & lower (2)/ piston head set (2-hole (2)/ 3-

NOIE (2)) 1. $3.00
4957R Springs, progressive rate (for Ultra-Shocks only) (progressive

rate) (f/r) (4) $8.00
4649R  Springs, red (2.5 rate) (2)....ccoueeueeieeeeeeeeeeeeee e $2.50
3762 Ultra shocks (black) (xx-long) (complete w/ spring pre-load

spacers & springs) (rear) (2) (requires part #4649R for stock

suspension setting) $18.00
3762A Ultra Shocks (grey) (xx-long) (complete w/ spring pre-load spacers

& springs) (rear) (2) (requires part #4649R for stock suspension

SEEING ). e, $18.00

Slinper Clutch Components

4992  Drive gear, two-speed (17/22-teeth)/ slipper shaft ..........c.cccoevverienns $6.00
4685  Friction pegs, slipper (12) . .

4625 Pressure plate, slipper (1)........

4622  Pressure rings, slipper (notched) (2)

4615  Slipper clutch set (complete)...........coviiiiriiriineeeeeeee

1994

Slipper tension spring/ spur gear bushing & locknut ....

Spur Gears & Pinion Gears

3166 Spur gear (66-Tooth) (32-Pitch) w/bushing....
4470 Spur gear (70-Tooth) (32-Pitch) w/bushing
4472  Spur gear (72-Tooth) (32-pitch) w/bushing

Steering Components

2728 Ball bearings (5x8x2.5mm) (2) $8.00
2545  Bellcrank bushings (plastic) (5x8x2.5mm) (4) ......cocverieriineineeieeens $3.00
4944  Bellcrank posts, aluminum (2)/ steering link threaded

rod (3x25mm)/ long rod €nds (2) .....cccveeveeiereeniireeeeeee e $7.00
1942 Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball

SCIEWS (2) .ttt ettt e e
2742 Rod ends, long (6)/ hollow ball connectors (6)...
2742X Rod ends, short (6)/ hollow balls (6)
4918 Servo mounts, steering/ shift (f&r) (black)
4918A Servo mounts, steering/shift (f&r)(grey)
3744  Servo saver w/ adaptors
2055  Servo, high-torque
4943  Steering bellcranks (2)/ bellcrank bushings (5x8x2.5mm) (4)/

bellcrank post spacers (2)/ draglink/ 3x8mm shoulder screws (2)...... $5.00
5138  Turnbuckles, 106mm (front tie rods) (2) (includes installed rod

ends and hollow ball CoNNECOrs) .........ccceeieriieiiiinieeieeeeeeeee $9.00

Suspension Linkage

3642 Attachment screws, shock (3x12mm shoulder screws) (6)....
1633  E-clips/ C-rings
1942 Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball
screws (2)
2742 Rod ends, long (6)/ hollow ball connectors (6)...
2742X Rod ends, short (6)/ hollow balls (6)
3744  Servo saver w/ adaptors
4939X Suspension pin set, stainless steel (w/ E-clips)
4939  Suspension screw pin set (T-Maxx, E-Maxx) ........cccceevveevieniiniennennns
5138  Turnbuckles, 106mm (front tie rods) (2) (includes installed rod
ends and hollow ball CoNNECOrs) ..........ccceevieriiiriiiniiiieeeeeeeee $9.00
5139  Turnbuckles, 116mm (rear toe control links) (2) (includes installed

rod ends and hollow ball connectors

Team Traxxas Items

Decal sheet, racing SPONSOIS........cc.ceiiiiirieeieriese e

2514

6160X DVD, Maxx Power! Full Throttle Action (2006) (sleeve)
9914  Maxx Book (By AirAge Publishing) ........c.cccceeveniiniicnnens
9950 Official Team Traxxas racing decal set (flag logo/ 6-color) .
9946  T-Shirt, Large, T-Maxx King of Monsters

9945  T-Shirt, Med, T-Maxx King of Monsters ..

9947  T-Shirt, XL, T-Maxx King of Monsters ...

9948  T-Shirt, XXL, T-Maxx King of Monsters ...

9949  T-Shirt, XXXL, T-Maxx King of Monsters

Traxxas racing banner, red & black (3x7 feet

Throttie & Brake Linkage

Brake cam (blue)/ cam lever/ 3mm set screw ...

4967

3182  Collars, screw (2)/ set screws, 3mm (2) ...
3180 Rod guides (2)/ 3mm nylon locknuts (2)
4182  Servo horn, throttle-brake/ shift (1)
5167  Slide carb linkage bellcrank post/ 5x8x2.5 plastic bushmg 2)
bellcrank/ 5x8x0.5 fiber washer (2)/ 3x10 WM .
5168  Slide carb linkage set (throttle link, brake link, and hardware) . $6.00
3184  Springs: throttle/brake/shift (3)
4968 Wires: brake, throttle, shift/ servo horns: throttle, brake & shift; b

screw and ball cup (shift shaft)

Tires & Wheels |

4971 Foam inserts, tire (2)
4954  Hex wheel hubs (2)/ axle pins (2.5x12mm) (2)...
4954X Hex wheel hubs, 6061-T6 aluminum (blue) (4)/ axle

pins (2.5x10mm) (4)
4147X Nuts, 5mm flanged nylon locking (aluminum, blue-

anodized) (4)
5147  Nuts, 5mm flanged nylon locking (steel) (8) ....
4955  Pins, axle (2.5x12mm) (4)
3972X Sport Wheels, Maxx (mirror chrome finish) (2)...
3972 Sport Wheels, Maxx (satin-finish) (2)
3970R SportTraxx knobby racing tires for Maxx trucks (2)

3970 SportTraxx tires, medium compound (1 pair) (tires only) ....
5374 Tires & wheels, assembled, glued (Gemini chrome wheels,
Talon tires, foam inserts) (2) (also fits Maxx series)..........cceerueens $39.00
4970 Tires, 3.2" Maxx series (2) $26.00
5471 Tires, Response racing 3.8" (soft-compound, narrow profile, short
knobby design)/ foam iNSerts (2) .........ccoeeieeieriineireeeeeeeeee, $30.00
5470 Tires, SportTraxx racing 3.8" (soft compound, directional and
asymmetrical tread design)/ foam inserts (2)
5370 Tires, Talon 3.8" (2)/ foam inserts (2)
5372 Wheels, Gemini 3.8" (chrome) (2) (also fits Maxx series).............
5373 Wheels, Hurricane 3.8" (chrome) (2) (also fits Maxx series)
4972 Wheels, satin finished 3.2" (2)

5192 Drive gear, single-speed (19-tooth)/ slipper shaft...
4992  Drive gear, two-speed (17/22-teeth)/ slipper shaft ....
4994X Forward only shaft and gear .
4993  Gear shaft, primary(1)
5193  Gear shaft, primary(1)/ composite 28/41-tooth gear .
4994R Gear, 26-T (Replacement gear for the 4994X forward-only shaft).....
4991  Gearbox halves (f&r)/ rubber access plug .........cccceeveeiieeicniinienies $10.00
4995  Primary gears: forward (28-T)/ reverse (22-T)/ set screw yoke pin,

M3/12 (1)/ 5x10x0.5mm PTFE washer (1)....
5194X Reverse upgrade kit (includes all parts to add reverse to

SportMaxx)(includes 2018 servo)
1647  SilICONE GrEASE........eiueiieieeeee et
5193X Single-speed conversion kit (Eliminates two-speed
mechanism for reduced weight, less rotational mass)
Washer, PTFE 6x8x0.5 (10)
Washer, PTFE 6X9.5X.5 (10)......ccccceiteiiiirieiienieisceee e

3982
3981

REV. 071119 1654



Page 4 Stadium Maxx Parts List

Turnhuckles & Threaded rods

1942 Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball

screws (2)
2742 Rod ends, long (6)/ hollow ball connectors (6)
2742X Rod ends, short (6)/ hollow balls (6)
5138  Turnbuckles, 106mm (front tie rods) (2) (includes installed rod

ends and hollow ball connectors) $9.00
5139  Turnbuckles, 116mm (rear toe control links) (2) (includes installed
rod ends and hollow ball connectors) ..............cocccooeiiiiiiie $9.00

Two Speed Components

Ball bearing (1)(10XT9X5MM)....c.eiiiiiiiiieeieee e,
4992  Drive gear, two-speed (17/22-teeth)/ slipper shaft .
4988  Drive hub assembly, clutch/ 6x8.5x0.5mm PTFE washer (1)............ $16.00
4986 Gear hub assembly, 1st/ one-way bearing/ snap ring ...........ccccceeeu $22.00
4987  Rings, retainer (snap rings) (14mm) (2) .

4897  Screws, set (grub) 4mm (6) (with threadlock)
4985  Spur gear assembly, 38-T (2nd speed)
4984  Spur gear, 43-T (1st speed)

If you have questions or need technical assistance, call Traxxas at:

1-888-TRAXXAS

(1-888-872-9927) (U.S. residents only)

For orders, calls outside the U.S., and other information,
call 972-265-8000, or fax to 972-265-8011
e-mail Traxxas at support@Traxxas.com

WWW.TRAXXAS.coOM

REV. 071119 1654





